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ath 8 nment _11.1 Solving Basic Math Equations

1. Gwen each diagram, find the langth of each bar:
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3. The time [hours) that it takes an object to travel a certain di: s equal to the di divided by the
speed (km/hr). 7= i Hew far can a car travel in 3.5 hours at 65km/hr?
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4, 80% of all Eric’s friends are in grade & If he has 27 friends in grade 8, haw many friends does he have
oBIRIEY LT %" Bz Tue WMense. ST Fetmes W Aoele Necy -

O Dr=23

X = %0 — RRLL WA o TR Un0S
B0 =30,

5. Betty earns commission an 2/9 of all her sales as a realtor. i she earmed 54200 In commission this month,
hevw much was her total sales?
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6. Kayla worked 195.5 days on her job and completed 97.75% of her contract. How many more days does she
need to work to complete her wark? .
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Mancy can cut 30% of her lawn in 2.5 hours. How many hours does she need To cut the entire lawn?
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